G.PULLAIAH COLLEGE OF ENGINEERING AND TECHNOLOGY (AT), KURNOOL

1.B.Tech-1ISEM MID-1l OBJECTIVE EXAM

SET1

Sub: MATHEMATICS-II
Time: 20 MIN
Roll. No:

Date: 8/05/2017
Max.Marks:10

Invigilator signature:

MULTIPLE CHOICE QUESTIONS

1. Z-Transform of a unit step sequence is

a)l b) 0 c)ﬁ
2.1 F{f ()} = (p) then F{f (ax)}=

a) éF(E] b) F(gj o F(p)

3. F,(e™) =
a a
3 b) — .
a+p a+p a +p

d) none

d) F(E
p

|

4. The p.d.e by eliminating the arbitrary constants from Z = (X+a)(y+b)is

a) z=pq b)z=p+q c) z=p/q

5.Z(n) =

a) z b) i c);
z+1 z-1 (z-1)°

d) none

d) none

[

[

6. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + yz) is

a) py+gx=0 b) py-qx=0 c) px+qy=0

7. Z[lj:
n

2 1o (_j ) 210 (_j

g z-1 g z-1

8 Z[i) =
n+1

z

a) e% b) Iog(ij c) zlog[ij
z-1 z-1

d) px-qy=0

d) e’ -1

d) none
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SET1
Sub: MATHEMATICS-II Date: 8/05/2017
Time: 20 MIN Max.Marks:10
Roll. No: Invigilator signature:

MULTIPLE CHOICE QUESTIONS

1. Z-Transform of a unit step sequence is [
a)1 b)0 )= d) none

2.1f F{f (x)}= f(p) then F{f(ax)}= [
a) %F[SJ b) F(Ej 9F() o F(%]

. FEe")y=__ [
a)a+p IO)afp ° aszz ¢ azfp2

4. The p.d.e by eliminating the arbitrary constants from Z = (X + a)(y + b) is
[

a) z=pq b)z=p+q c) z=p/q d) none
5. Z(n) = [
a) z b) i c); d) none

z+1 z-1 (z-1)*

6. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + y2) is

a) py+ax=0 b) py-ax=0 c) px+qy=0 d) px-qy=0
7. Z(EJ = [
n
Z Z
log| — b) zlog| — e’ d) e’ -1
A ES )

8 Z(Lj: . [
n+1

: z z
a) e? b) log| —— ) zlog| — d) none
z-1 z-1



CRA (1) e ——

a) — 2 b) 2 g—
Z+5 z-5 (z-5)?
0 24 3 |-
(z-a)’
a) n? b) n° c) na"

FILL IN THE BLANKS

11. Z(cosn@) =

12. Z(n*) =

13. Fourier sine integral formula is given by

14. Infinite Fourier Sine transform of f(x) is

15. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

TRUE/FALSE

z
16. Z() =——
@ 1

o Z°+12

17.Z(n°) = —;

(z-1)

18. Z 4z =n4"
(z-4)°

19. Z[ ! Jzei—l.
(n+1)!

20.1f Z(u,)=U(z)thenZ(a"u,) =U (az)

DA (1) e ——
) —— b) —2— g—
Z+5 -5 (z-5)?
10 7Y & > |=
(z-a)
a) n’ b) n® ¢ na"

FILL IN THE BLANKS

11. Z(cosn@) =

12. Z(n*) =

13. Fourier sine integral formula is given by

d -
) (z+5)?

d) n

14. Infinite Fourier Sine transform of f(x) is

15. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

TRUE/FALSE

z
16. Z()=——
@ 1
17.Z(n%) = Z°+1
' (z-1)°

18. 27 42 =n4"
(z-4)°

19. Z( ! j=ei—l.
(n+1)!

20.1f Z(u,)=U(z)thenZ(a"u,) =U (az)
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SET 2 SET 2
Sub: MATHEMATICS-II Date: 8/05/2017 Sub: MATHEMATICS-II Date: 8/05/2017
Time: 20 MIN Max.Marks:10 Time: 20 MIN Max.Marks:10
Roll. No: Invigilator signature: Roll. No: Invigilator signature:
MULTIPLE CHOICE QUESTIONS MULTIPLE CHOICE QUESTIONS
o) ) [
n n
) log z b) zlog z ) e’ d) e’ -1 ) log z b) zlog z ) e d) e’ -1
a — — C - a — — c -
z-1 z-1 z-1 z-1
2.7 1l [ ] 2. Z L [
n+1 n+1
1 1
. z z - z Z
a) e’ b) log| —— ) zlog| — d) none a) e? b) log| —— ) zlog] — d) none
z-1 z-1 z-1 z-1
3. Z-Transform of a unit step sequence is [ ] 3. Z-Transform of a unit step sequence is [
a)l b)0 c) ﬁ d) none a)l b) 0 c) sz d) none
af F{f(x)}= f(p) then F{f (ax)}= [ ] a.1f F{f(x)}= f(p) then F{f (ax)}= [
a a
a) 1 F(Ej b) F(Bj o F(p) d F(—J a) 1 F[BJ b) F(Ej o F(p) d F[—j
a (a a p a \a a p
s. Fe™)y=__ [ ] s. Fe*)y=__ [
a a a
a) ) —" ) A a) b) — | L
a+p a+p a +p a +p a+p a+p a +p a +p
6. The p.d.e by eliminating the arbitrary constants from z = (X+a)(y +b)is 6. The p.d.e by eliminating the arbitrary constants from zZ = (X+a)(y +Db)is
[ ] [
a) z=pq b)z=p+q c) z=p/q d) none a) z=pq b)z=p+q c) z=p/q d) none
7.Z(n) = [ ] 7.Z()=___ [
) b) — — ) ) b) — — )
a —_— c)———— none a —_— c)——— none
z+1 z-1 (z-1)° z+1 z-1 (z-1)?*
8. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + yz) is 8. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + y2) is

a) py+agx=0 b) py-gx=0 c) px+qy=0 d) px-qy=0 a) py+gx=0 b) py-ax=0 c) px+qy=0 d) px-qy=0



CRA (1) e ——
z Z

) Z+5 ) Z— ° (z-5)?
0.2 2 |-

(z-a)’
a) n? b) n° c) na"

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

12. Infinite Fourier Sine transform of f(x) is

13. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

14. Z(cosnd) =

15. Z(n*) =

TRUE/FALSE

16. Z ™ 4z =n4"
(z-4)°

17.2( ! j:ei—l.
(n+1)!

18.1f Z(u,) =U(z)thenZ(a™"u,) =U (az)

z

19. Z() =——

@ 1
2’ +12
20.Z(n%)=——
(") (z-1)*

CRA (1) e ——
a) — b) 2 g—
Z+5 Z— (z-5)?
10,27 & E
(z-2a)
a) n’ b) n® ¢ na"

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

d —
)(z+5)2

d) n

12. Infinite Fourier Sine transform of f(x) is

13. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

14. Z(cosn@) =

15. Z(n*) =

TRUE/FALSE

16. 2™ 42 =n4"
(z-4)°

17. Z( ! ]:e1 -1.
(n+1)!

18.1f Z(u,) =U(z)thenZ(a"u,) =U (az)

Z
19. Z(1) =——
(@) 1

2% +z

20. Z(nz) = W

—

—_—
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1.B.Tech-1ISEM MID-1l OBJECTIVE EXAM

SET 3
Date: 8/05/2017

Time: 20 MIN Max.Marks:10
Roll. No: Invigilator signature:
MULTIPLE CHOICE QUESTIONS
1. Z-Transform of a unit step sequence is [ ]
a)l b)0 c) ﬁ d) none
2. F{f (X)}=f(p) then F{f(a)}=__ [ ]

a) éF(Ej b) F(gj o F(p) F(%J

3. F(e™) =
a) 2 o) —P
a+p a+p

a p
- d) ——

4. The p.d.e by eliminating the arbitrary constants from Z = (X+a)(y+b)is

a) z=pq b)z=p+q
5. Z(5") = -
YA
a) b) ——
Z+5 7-5
6. 27" iz =
(z-a)
a) n? b) n°
7. Z(n) =
YA
a) b) ——
z+1 z-1

c) z=p/q d) none
[ ]
g— q —Z
(z-5)? (z+5)*
c) na" d) n [ ]
[ ]
c); d) none
(z-1)°

8. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + yz) is

a) py+ax=0 b) py-gx=0

c) px+qy=0 d) px-qy=0

G.PULLAIAH COLLEGE OF ENGINEERING AND TECHNOLOGY (AT), KURNOOL

Sub: MATHEMATICS-II
Time: 20 MIN

Roll. No:

1.B.Tech-1ISEM MID-1l OBJECTIVE EXAM

SET3

Date: 8/05/2017
Max.Marks:10
Invigilator signature:

1. Z-Transform of a unit step sequence is

a)l

b) 0

MULTIPLE CHOICE QUESTIONS

z

c); d)n

2.1f F{f (x)}= f(p) then F{f(ax)}=

one

a) 1F[BJ b) F(Ej o F(p) d F[EJ
a \a a P
3. F.(e%)= [
P a p
b d
a)a+p )a+p C)a2+p2 )a2+p2

4. The p.d.e by eliminating the arbitrary constants from Z = (X+a)(y+b) is

a) z=pq

a)

Z+5

e
- \@-a)°

a) n?

7. Z(n) =
z

a)

[

b)z=p+q c) z=p/q d) none
5. Z2(5") = - [
b) o c) _z d) _z
z=5 (z-5)° (z+5)°
b) n° c) na" ) n [
[
L C); d) none
z-1 (z-1)?°

z+1

8. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + y2) is

a) py+qgx=0

b) py-qx=0

c) px+qy=0

d) px-qy=0



! z z
a) e’ b) log| —— c) zlog
z-1 z

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

12. Infinite Fourier Sine transform of f(x) is

13. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

14. Z(cosn®) =

15. Z(n*) =

TRUE/FALSE

yA
16. Z(1)=——
@ 1

17. 2 4z =n4"
(z-4)°

18.2( ! j:ei—l.
(n+1)!

19.1f Z(u,) =U(z)thenZ(a™"u,) =U (az)

2’ +z

20. Z(nz) = W

—_—

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

12. Infinite Fourier Sine transform of f(x) is

13. By eliminating a and b from Z = ax® + by‘°’ ,the p.d.e formed is

14. Z(cosné) =

15. Z(n*) =

TRUE/FALSE

z
16. Z(1) =——
() 1

17. 27 4z =n4"
(z-4)°

18. Z( ! ]ze1 -1.
(n+1)!

19.1f Z(u,) =U (z)thenZ(a"u,) =U (az)

2% +z

20. Z(nz) = W
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1.B.Tech-1ISEM MID-1l OBJECTIVE EXAM

SET 4
Sub: MATHEMATICS-II Date: 8/05/2017
Time: 20 MIN Max.Marks:10
Roll. No: Invigilator signature:
MULTIPLE CHOICE QUESTIONS
1. F(e™)= [
a p a Y
a) b) 0 5—— d 55—
a+p a+p a +p a +p

2. The p.d.e by eliminating the arbitrary constants from Z = (X + a)(y + b) is

a) z=pq b)z=p+q c) z=p/q d) none
3. Z(5n) = e [
a) L b) o c) _r d) _z
Z+5 z-5 (z-5)° (z+5)
az
4. 27— |= :
((z—a)zJ
a) n’ b) n° c) na" d) n
5. Z(my=__ [
VA Z 7
a) b) —— O——= d) none
z+1 z7-1 (z-1)

6. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + yz) is

a) py+ax=0 b) py-ax=0 ¢) px+qy=0 d) px-qy=0

7. Z-Transform of a unit step sequence is [
a)l b) 0 c) ﬁ d) none

8.1f F{f (x)}= f(p) then F{f(ax)}= [

a) éF(E] b) F(gj o F(p) d) F(%]

G.PULLAIAH COLLEGE OF ENGINEERING AND TECHNOLOGY (AT), KURNOOL
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SET 4
Sub: MATHEMATICS-II Date: 8/05/2017
Time: 20 MIN Max.Marks:10
Roll. No: Invigilator signature:

MULTIPLE CHOICE QUESTIONS
1. F(e™)= [

b) P c) a d) P

a+p a+p a’+ p? a’+p

a)

2. The p.d.e by eliminating the arbitrary constants from Z = (X + a)(y + b) is

a) z=pq b)z=p+q c)z=p/q d) none
3. Z(Sn) = [
a) L b) o c) _r d) _z
45 -5 (z-5)° (z+5)°
az
4. 27— |= :
((z —a)zj
a) n’ b) 1’ c) na' d) n
s.Z(n)=___ [
z Z 7
a) b) —— O—= d) none
z+1 z—1 (z-1)

6. The p.d.e by eliminating the arbitrary constants from Z = f (X2 + y2) is

a) py+gx=0 b) py-ax=0 ¢) px+qy=0 d) px-qy=0 [
7. Z-Transform of a unit step sequence is [
a)l b) 0 c) sz d) none

8.1f F{f(x)}= f(p) then F{f (ax)}= [

a) iF[gJ b) F(Ej o F(p) d) F(%j



a) e% b) lo (Lj c) zlog[ij
J z-1 z-1

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

d) e’ -1

d) none

12. Infinite Fourier Sine transform of f(x) is

13. Z(cosn@) =

14. Z(n*) =

15. By eliminating a and b from Z = ax® + by3 ,the p.d.e formed is

TRUE/FALSE

16.2( ! j:ei—l.
(n+1)!

17.1f Z(u,) =U (z)thenZ(a™"u,) =U (az)

2’ +12

18. Z(nz) = W

yA
19. Z(1) =——
@ 1

20. Z 4z =n4"
(z-4)°

FILL IN THE BLANKS

11. Fourier sine integral formula is given by

12. Infinite Fourier Sine transform of f(x) is

13. Z(cosn@) =

14. Z(n*) =

15. By eliminating a and b from Z = ax® + by‘°’ ,the p.d.e formed is

TRUE/FALSE

16. Z( ! J:e1 -1.
(n+1)!

—_—
fa—

17.1f Z(u,) =U (z)thenZ(a"u,) =U (az) [ ]
18 Z(nz) —22—+Z [ ]
T @-y!
z
2 =——
9. Z(M)=—— [ ]

20. 2 42 ~|=n4" [ ]
(z-4)



